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o= i
TR A, %)
& (F &AL )
H-H HE p—value*
Jg
Lt
A = 9,473 (0.8) 0.0320
of 4,822 (0.5)
55| 0] ot 3,216 (0.1)
—65A| 0| ot
o124 55—65M 0t 4,332 (0.2) < 0001
65—75AM 0] 2t 3,905 (0.7)
75M o4&t 2,842 (2.2)
_ HL=E 13,565 (0.7)
e 0.0131
"T o=z 730 (1.5)
18.50] Bt 629 (1.4)
18.5—250|0F 8,394 (0.7)
BMI <.0001
250| At 5,258 (0.7)
A= 14 (12.5)
stage | 9,332 (0.4)
stage |l 2,137 (0.8)
stage <.0001
stage |lI 2,191 (1.3)
stage IV 635 (3.9)
13 2 281 (0.2)
ASA T4 prs| 9,304 (0.4) <.0001
37 0| & 2.710 (2.2)
_ RSy 11,373 (0.6)
A5O3 == ! 0.0025
=" MEA 2 2 922 (1.2)
o 144 (7.7)
Sasa0s <.0001
TETT ot 2 14151 (0.7)
o 3,173 (1.8)
SH4 S0 <.0001
TETT ofL| 2 11,122 (0.4)
NfHEEAL ofl 3,147 (0.7) 0.7935
of & ot 2 11,148 (0.7) '
170l 5t 4,806 (0.3)
SHIME X 4 prs| 3,024 (0.7) <.0001
37 0| & 6,465 (1.1)

chi-square test, Fisher's exact test 23}
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HeIR | HE 8 = — —
e T T Ratio it At P—value 0zt
0.0552
g4E | e
o 0.633 0.396 1.01 0.0552
<.0001
e 554010
£4 A 55—65A|0]2F 1.224 0.377 3.972 0.7366
65—75AM(0] 3¢ 3.473 1.183 10.192 0.0234
75M Of & 8.842 3.092 25.283 <.0001
S 0.3441
kA=
ST o2 =0 1.375 0.711 2.659 0.3441
<.0001
stage1
AHI| | stage? 1.647 0.909 2.985 0.0999
oA stage3 2.258 1.339 3.808 0.0023
AL stage4 6.489 3.664 11.49 <.0001
c 0.3499
18.50|8F
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a5 3.873 0.655 22.913 0.1355
SaAsxs <.0001
c L o2
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TROI —an O]
= ERAT of 3.006 2.011 4.493 <.0001
0.0001
13
ASA T 0.951 0.366 247 0.9182
3FO|4 2.393 0.916 6.252 0.0749
EhA 0.1735
R g, |1EOlS
SHHet OI_A 2 1.603 0.804 3.197 0.1802
8= [3Fo0|A 1.758 0.973 3.177 0.0617
BAQRL A, A%, g51A, SV, BMI, ASAHT, 417, sRks, SaTE
SH 2 2t i A
AICSA 1027.389 NELE YN £E5
C—statistics 0.878 10| ZthE4s HEE £5
Hosmer—Lemeshow goodness—of—fit test 0.6826 0.062Ct 3AH WA Fo|&t
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